2. Mrs. Tranpicks |8 tomatoes from her garden. She putstomatoesin each hag

a. DrawMrs. Tran's bagsaf tomatoes,
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b. Write a multiplication sentence that describes your drawing in Part (a).

4x4=10

® 3. Mrs. Tranplants }5 sunflowers in her garden. She plants themin 3 rows.

a, Fillinthe below to make a true dlvislon sentence. What does the answer represent?
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™~ howmany sunlowers in €ach row.
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¢, Mrs. Tran figured out how manvﬂowersge planted Her work is shown in the box below. Would

Mrs. Trangetthe same result if she multiplied 5 x5? Explain why or why not.

Mrs.Tran Wodldl ermmm =~ DxH=25
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